1.Izračunaj:
60 + 20 =         32 + 8 =    	  32 + 4  =          70 + 2 =
30 + 50  =        67 + 3 =             56 + 3 =         50 + 8 =	
80 – 60 =	     26 – 6 =       	   48 – 6 =         60 – 4 =	
70 – 30 =         79 – 9 =             77 – 5 =        40 – 5 =

2.Usporedi: 										
2D 6J	          2D 5J	         24 + 3	 28 – 4
6D 2J 	2D 6J			32 + 2	 46 - 5   
5D 4J 	4D 6J			99 – 6	 91 + 2

3.Izračunaj!	

20 + 30 =        60 – 30 =          50 + 30 =           100 – 70 =           40 + 50 =          
50 + 6 =             40 + 3 =            90 + 8 =              60 + 1 =              30 + 9 =
 34 – 4 =             97 – 7 =            53 – 3 =              76 – 6 =              48 – 8 =            
22 + 5 =             64 + 3 =            97 + 2 =              43 + 6 =              91 + 8 = 
46 – 2 =             89 – 7=             57 – 5 =              96 – 4 =              66 – 1 =            
56 + 4 =             73 + 7 =            99 + 1 =              25 + 5 =              48 + 2 =  
30 – 5 =             90 – 8 =            40 – 3 =              70 – 6 =              80 +3=
46 + 7 =             75 + 9 =            53 + 8 =              66 + 5 =              39 + 4 =            
71 – 5 =             35 – 7 =            84 – 8 =              28 – 9 =              52 – 3 =            
98 – 50 =           43 – 20 =          76 – 40 =            51 – 40 =            88 – 40 
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